

Page 1 of 1

Vendor Ranking

Florida Department of Transportation

01240215 Letting: February 15, 2024 11:00 AM Call Order: 005 E1W73-R0 Contract:

Counties: DIST/ST-WIDE, GLADES, Fed Aid No: N/A District: District 1

HENDRY Project(s): 43274417271 (*) Contract Time: 365 CALENDAR DAYS

Contract Desc: Shoulder Repair with Sod

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$276,600.20	100.00%
2	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$319,467.00	115.50%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$369,817.78	133.70%
4	NATIONAL TRAFFIC SOLUTION, INC	Responsive	Non-Winning Bid	\$389,978.00	140.99%
5	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$434,490.00	157.08%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 3

Letting: 01240215 February 15, 2024 **Call Order:** 005 **Contract:** E1W73-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

GLADES, HENDRY

Project(s): 43274417271 (*)

Contract Descr: Shoulder Repair with Sod

Shoulder Repair with Sod in Glades and Hendry Counties

Line No / Item ID Altern Item Description	ate Quantity Units	(1) MIDWESTERN CONSTRUCTION, INC		(2) HIGHER GROUND LAND SERVICES, LL		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
() indicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001	(REWORK NO	NPAVE SHOULDE	R (AC				
0005 E575 1 SODDING	60,000.000 SY	2.50000	150,000.00	4.00000	240,000.00	6.15000	369,000.00
0010 E577 70 SHOULDER REWORK	58,000.000 SY	1.50000	87,000.00	0.60000	34,800.00	0.01000	580.00
0015 E577 70 2 REWORKING UTILITY STRIPS	2,000.000 SY	10.00000	20,000.00	6.00000	12,000.00	0.01000	20.00
0020 E577 71 BLADING PAVED SHOULDER, UF BEYOND PAVEMENT	21,778.000 P TO 24" LF	0.90000	19,600.20	1.50000	32,667.00	0.01000	217.78
0001 REWORK NONPAVE SHOULDER (AC)			\$276,600.20		\$319,467.00		\$369,817.78

Contract Grand Totals:	\$276,600.20	\$319,467.00	369,817.78



Florida Department of Transportation



Contract Grand Totals:

Tabulation of Bids

Page 2 of 3

Letting	g: 01240	215 Fe	bruary 15, 20	024 Cal	l Order: 005		Contract:	E1W73-R0	
	ine No / Item ID Alternate Q em Description		Quantity Units		(4) NATIONAL TRAFFIC SOLUTION, INC		(5) ENVIRONMENTAL LAND DEVELOPMENT		
() inc	dicates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000)1 (F	REWORK NON	IPAVE SHOULDE	R (AC				
0005 SODDIN	E575 1 NG		60,000.000 SY	3.17000	190,200.00	3.42000	205,200.00		
0010 SHOULI	E577 70 DER REWORK		58,000.000 SY	3.00000	174,000.00	2.00000	116,000.00		
0015 REWOR	E577 70 2 RKING UTILITY STI	RIPS	2,000.000 SY	2.00000	4,000.00	2.20000	4,400.00		
	E577 71 G PAVED SHOULI D PAVEMENT	DER, UP TO	21,778.000 24" LF	1.00000	21,778.00	5.00000	108,890.00		
0	001 REWORK NO SHOULDE		tion Totals:		\$389,978.00		\$434,490.00		

\$389,978.00

\$434,490.00



Florida Department of Transportation

02/15/2024

Tabulation of Bids

Page 3 of 3

Letting: 01240215 February 15, 2024 **Call Order:** 005 **Contract:** E1W73-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.